Ex. 3.1A

2. preceding given number succeeding
(@ | MCMXLVIII | MCMXLIX MCML
(b) << < << <V| << <VV
o f i La9 | £991

3. The building was built in 1922.

4, (a) 121 in Roman Numerals is CXX1I.
(b) 42 in Roman Numerals is XLII.

7. (a) 3-10% 44103 + 5 = 3,004, 005
(b) 2+ 10* + 1 = 20,001

10. Since the hundreds digit is greater than 7, it is either 8 or 9. The tens digit is odd but
the sum must be 10 so it has to be 1. The two possibilities are 811 or 910.

14. Base twenty requires 20 different digits.

15,2082, =2 X 43 4+ 0 x 42 +3 x 4+ 2 x 1= 142

17. preceding | number | succeeding
(a) ETE12 EE012 EElm
(b) | 111114 1000002 | 10000115
(c) | 554¢ 555¢ 1000¢

18. (a) 2044 is not correct because 4 is represented by 10 in base 4.
(b) 6075 has two digits bigger than 4.

23.(a) 4325 =4 x 52 +3x5+2x 1 =117
(b)1011()12-—1><25+O><24+1><23+1><22+0><21+1><1-—45
(c) 92E1, =9 x 122 +2 x 121 +11 x 1 = 1331




Ex. 3.1B

22. (2) 4] 234
4 |58
4 |14
4 |3
0
(b) 12 | 1876
12 | 156
12 |13
12 | L
0
(©) 3| 303
3 |101
3 |33
3 |11
3 |3
3 |1
0
@ 2] 22
2 |11
2 |5
2 |2
2 |1
0

Extra question:

r=2
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o=
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r=20
r=2
r =
r=1
r=0
r=1
’r:
T =
r=1

234 = 32224

1876 = 11044,

303 = 1020203

22 = 10110,

2CDE;s =2x16°+12x 162+ 13 x 16 +14 x 1
= 8192 + 3072 + 208 + 14
= 11486




Extra practice guestions:

98,765,432 = XCVIII DCCLXV CDXXXII

12345 = (3 x 3600) + 1545

= (3 x3600)+ (25 x 60) + (45 x 1)

= vev < <VVVVYY << < K<VVVVYY
12345 = (1 x7200)+ 5145

Il

(1 x 7200) + (14 x 360) + 105
(1 x 7200) + (14 % 360) + (5 x 20) + (5 x 1)

1

Il

|18

<< <VY < VVVVYY < <VYVVY
= (32 x 60%) + (15 x 601) + (24 x 60°)
= 116,124




